## RATES OF CONVERGENCE FOR WEIGHTED SUMS OF RANDOM VARIABLES<sup>1</sup>

By F. T. WRIGHT

The University of Iowa

For  $N=1,2,\cdots$  let  $S_N=\sum_k a_{N,k}\,X_k$  where  $a_{N,k}$  is a real number for  $N,k=1,2,\cdots$  and  $\{\chi_k\}$  is a sequence of not necessarily independent random variables. For the case 0< t<1, with assumptions closely related to  $E|X_k|^t<\infty$  it is shown that the rate of convergence of  $P(|S_N|>\varepsilon)$  to zero is related to  $\sum_k |a_{N,k}|^t$ . The theorems presented here extend some of the results in the literature to not necessarily independent sequences  $\{X_k\}$ .

1. Introduction and summary. Let  $X_k$  for  $k=1,2,\cdots$  be a sequence of random variables (not necessarily independent), let  $a_{N,k}$  for  $N, k=1,2,\cdots$  be real numbers, let 0 < t < 1 and  $\rho_N$  be a sequence of positive numbers such that  $\sum_k |a_{N,k}|^t \le \rho_N$ , and let  $S_{N,M} = \sum_{k=1}^M a_{N,k} X_k$  for  $N, M=1,2,\cdots$ . In Section 2 with assumptions closely related to  $E|X_k|^t < \infty$ , we show that for each  $N, S_{N,M}$  has an almost sure limit  $S_N$  as  $M \to \infty$  and that the rate at which  $P(|S_N| > \varepsilon)$  converges to zero is related to  $\rho_N$ . We conclude with some remarks about the case t=1.

The results of this paper are similar to those of [2], [3], [4], and [7]. In the references cited above the random variables were assumed to be independent. However in [4] it was observed that Theorems 1a and 2a of that paper were valid if the assumption of independence was omitted. Since Theorems 1a and 2a of [4] were generalizations of Theorems 1 and 2 of [2], the question is raised as to whether Theorems 3 and 4 of [2] can be generalized to include dependent sequences  $\{X_k\}$  for 0 < t < 1. In [7] Theorem 4 of [2] was generalized to the case 0 < t < 1 but the sequence  $\{X_k\}$  was still assumed to be independent. The above question is answered in the affirmative by Theorems 3 and 4 of this paper.

2. Results. Using the notation of Section 1, define for  $y \ge 0$ ,

$$F_k(y) = P(|X_k| \ge y)$$
 and  $F(y) = \sup_k F_k(y)$ .

Throughout this paper C will denote various positive constants whose exact values do not matter. Where appropriate, summations will be taken over those values of k for which  $a_{N,k} \neq 0$  and integrals will be Lebesgue-Stieltjes integrals.

We now prove the following

LEMMA. If  $y^t F(y) \leq B < \infty$  for all y > 0, then for each N as  $M \to \infty$   $S_{N,M}$  has an a.s. limit which we will denote by  $S_N$ .

Proof. We define  $Y_{N,k} = X_k I_{[|a_{N,k}X_k| < 1]}$  and observe that for each N and for

www.jstor.org

Received August 10, 1971; revised January 20, 1972.

<sup>&</sup>lt;sup>1</sup> Research sponsored by the Air Force Office of Scientific Research, Office of Aerospace Research, United States Air Force under Grant No. AFOSR-68-1394.

each  $\varepsilon > 0$ 

(1) 
$$P(\sup_{j\geq 1} |S_{N,M+j} - S_{N,M}| > \varepsilon) \\ \leq \sum_{k=M+1}^{\infty} P(|a_{N,k} X_k| \geq 1) + P(\sup_{j\geq 1} |\sum_{k=M+1}^{M+j} a_{N,k} Y_{N,k}| > \varepsilon).$$

Since  $y^t F(y)$  is bounded for all y > 0, we see that the second expression in (1) is bounded by  $C \sum_{k=M+1}^{\infty} |a_{N,k}|^t$ . Using the inequality of Theorem 1 of [5] with  $c_i \equiv 1$  and r = 1, the third expression in (1) is bounded by

$$C \sum_{k=M+1}^{\infty} |a_{N,k}| \int_{[0,|a_{N,k}|^{-1})} x |dF_k(x)|$$

(where the last integral is taken with respect to the Lebesgue-Stieltjes measure corresponding to  $-F_k$ ). Integrating by parts we see the last expression is bounded by

$$C \sum_{k=M+1}^{\infty} |a_{N,k}| \int_{0}^{|a_{N,k}|-1} F(x) dx$$

$$\leq C \sum_{k=M+1}^{\infty} |a_{N,k}| \int_{0}^{|a_{N,k}|-1} x^{-t} dt$$

$$= C \sum_{k=M+1}^{\infty} |a_{N,k}|^{t}.$$

So expression (1) tends to zero as  $M \to \infty$  and hence  $S_{N,M}$  has an almost sure limit (cf. page 115 of [6]).

The following theorems give rates of convergence for  $P(|S_N| > \varepsilon)$ .

Theorem 1. If 
$$y^t F(y) \leq B < \infty$$
 for all  $y > 0$ , then for every  $\varepsilon > 0$ 

$$P(|S_N| > \varepsilon) = O(\rho_N).$$

Theorem 2. If  $y^t F(y) \to 0$  as  $y \to \infty$  and if  $\max_k |a_{N,k}| \to 0$  as  $N \to \infty$ , then for every  $\varepsilon > 0$ 

$$P(|S_N| > \varepsilon) = o(\rho_N)$$
.

For Theorems 3 and 4 we assume that  $\rho_N$  is of the form  $CN^{-\rho}$  and hence there exists a constant  $\beta$  such that

$$(2) \max_{k} |a_{N,k}| \leq CN^{-\beta}.$$

For Theorem 3 let s be a constant such that 0 < s < t and let  $\alpha$  be a constant such that  $\sum_{k} |a_{N,k}|^s \leq CN^{\alpha}$ . As in [4] it can be shown that we may assume  $\beta \geq \rho/t$ ,  $\beta \geq -\alpha/s$ , and  $\rho \geq \beta(t-s) - \alpha$ .

THEOREM 3. If  $\beta > 0$  and if F satisfies

(3) 
$$\lim_{y\to\infty} F(y) = 0 \quad and \quad \int_0^\infty y^t \, |dF(y)| < \infty \;,$$

then for every  $\varepsilon > 0$ 

$$\sum_{N} N^{\beta(t-s)-\alpha-1} P(|S_N| > \varepsilon) < \infty$$
.

THEOREM 4. If  $\beta > 0$  and if there exists a non-increasing real valued function G(x) satisfying (3) and such that  $G(x) \ge F(x)$  for all x > 0 and

(4) 
$$\sup_{x\geq 1} \sup_{y\geq x} y^t F(y)/(x^t G(x)) < \infty ,$$

then for every  $\varepsilon > 0$ 

$$\sum_{N} N^{\rho-1} P(|S_N| > \varepsilon) < \infty$$
.

Note. Theorem 1 was proved in [4] and has been included here for completeness. Theorem 2 was proved in [4] under the assumption that  $\rho_N \to 0$  as  $N \to \infty$ ; however, examining that proof we see that the weaker assumption  $\max_k |a_{N,k}| \to 0$  as  $N \to \infty$  would suffice. Rohatgi in [7] extended Theorem 4 of [2] to the case 0 < t < 1, but did not give an extension of Theorem 3 of [2]. Theorem 4 of this paper extends the above work to dependent sequences  $\{X_k\}$  and removes assumption (6) of [7]. Theorem 3 of this paper extends Theorem 3 of [2] to the case 0 < t < 1 and to not necessarily independent sequences  $\{X_k\}$ . We now prove Theorems 3 and 4.

PROOFS. First we observe that

(5) 
$$P(|S_N| > \varepsilon) \le \sum_k F(|a_{N,k}|^{-1}) + P(|\sum_k a_{N,k} Y_{N,k}| > \varepsilon)$$

where  $Y_{N,k}$  is defined as in the proof of the lemma. The proofs of Theorems 3 and 4 are completed by showing that the last two expressions in (5) behave as specified in the theorems.

To show that the second expression in (5) behaves as specified in Theorem 3 one only needs to mimic the proof given for Theorem 3 of [3] found on pages 446 and 447. For Theorem 4 the argument on pages 351 and 352 of [2] suffices. It should be noted that the two arguments cited do not require  $\beta(t-s)-\alpha>0$  or  $\rho>0$  but only that  $\beta>0$ .

In considering the last expression in (5), we define  $\delta_{N,M} = \text{card. } \{k : M^{-1} \le |a_{N,k}|\}$  for  $N, M = 1, 2, \dots$ . Using the Markov Inequality we see that

(6) 
$$\sum_{N} N^{\beta(t-s)-\alpha-1} P(|\sum_{k} a_{N,k} Y_{N,k}| > \varepsilon)$$

$$\leq C \sum_{N} N^{\beta(t-s)-\alpha-1} E |\sum_{k} a_{N,k} Y_{N,k}|$$

$$\leq C \sum_{N} N^{\beta(t-s)-\alpha-1} \sum_{k} |a_{N,k}| \int_{[0,|a_{N,k}|-1)} x |dF_{k}(x)|$$

$$\leq C \sum_{N} N^{\beta(t-s)-\alpha-1} \sum_{k} |a_{N,k}| \int_{0}^{|a_{N,k}|-1} F(x) dx$$
(7) 
$$\leq C \sum_{N} N^{\beta(t-s)-\alpha-1} \sum_{k} |a_{N,k}| \int_{0}^{|a_{N,k}|-1} F(x) dx$$

(8) + 
$$C \sum_{N} N^{\beta(t-s)-\alpha-1} \sum_{M=2}^{\infty} (\delta_{N,M} - \delta_{N,M-1})(M-1)^{-1} \int_{0}^{M} F(x) dx$$

where the prime on the summation in expression (7) indicates it is to be taken over those values of k for which  $|a_{N,k}| \ge 1$ . Since  $\beta > 0$  expression (7) is finite. Expression (8) is bounded by

(9) 
$$C \sum_{N} N^{\beta(t-s)-\alpha-1} \sum_{M=2}^{\infty} (\delta_{N,M} - \delta_{N,M-1}) M^{-1} \sum_{j=1}^{M} F(j-1)$$

$$\leq C \sum_{j=1}^{\infty} F(j-1) \sum_{M=j}^{\infty} M^{-2} \sum_{N=1}^{\infty} N^{\beta(t-s)-\alpha-1} \delta_{N,M}.$$

We now obtain estimates for  $\delta_{N,M}$ . Since  $\sum_k |a_{N,k}|^s \leq CN^{\alpha}$  and  $\max_k |a_{N,k}| \leq CN^{-\beta}$ , we see that  $\delta_{N,M} = 0$  unless  $N \leq CM^{1/\beta}$  and  $\delta_{N,M} \leq CN^{\alpha}M^s$ . Therefore

(9) is bounded by

$$\begin{split} C \sum_{j=1}^{\infty} F(j-1) \sum_{M=j}^{\infty} M^{-(2-s)} \sum_{N=1}^{\lceil CM^{1/\beta} \rceil} N^{\beta(t-s)-1} \\ & \leq C \sum_{j=1}^{\infty} j^{t-1} F(j-1) \leq C + C \sum_{j=1}^{\infty} j^{t-1} F(j) \\ & \leq C + C \int_{0}^{\infty} x^{t} |dF(x)| < \infty . \end{split}$$

For Theorem 4 an argument similar to the one beginning at (6) shows that it is sufficient to consider

(10) 
$$\sum_{N} N^{\rho-1} \sum_{k} |a_{N,k}| \int_{0}^{|a_{N,k}|-1} F(x) dx.$$

From (2) wee see that there exists a positive constant A such that  $|a_{N,k}|^{-1} \ge AN^{\beta}$  for  $N, k = 1, 2, \dots$ . Expression (10) is equal to

(11) 
$$\sum_{N} N^{\rho-1} \sum_{k} |a_{N,k}| \int_{0}^{4N\beta} F(x) dx + \sum_{N} N^{\rho-1} \sum_{k} |a_{N,k}| \int_{4N\beta}^{|a_{N,k}|-1} F(x) dx$$
.

The first expression in (11) is bounded by

(12) 
$$C \sum_{N} N^{-1-\beta(1-t)} \sum_{k=1}^{N} F(A(k-1)^{\beta}) [k^{\beta} - (k-1)^{\beta}].$$

Applying the Mean Value Theorem to the function  $1 - (1 - x)^{\beta}$ , one can show that there exists a constant C depending only on  $\beta$  such that  $k^{\beta} - (k-1)^{\beta} \le CK^{\beta-1}$ . Hence expression (12) is bounded by

$$\begin{array}{c} C \sum_{k=1}^{\infty} k^{\beta-1} F(A(k-1)^{\beta}) \sum_{N=k}^{\infty} N^{-1-\beta(1-t)} \leqq C \sum_{k=1}^{\infty} k^{\beta t-1} F(A(k-1)^{\beta}) \\ \leqq C + C \sum_{k=1}^{\infty} k^{\beta t} [F(Ak^{\beta}) - F(A(k+1)^{\beta})] \leqq C + C \int_{0}^{\infty} x^{t} |dF(x)| < \infty \ . \\ \text{Choose $N_0$ so that $AN_0^{\beta} \geqq 1$. Using (4) we see that} \end{array}$$

$$\begin{split} &\sum_{N=N_0}^{\infty} N^{\rho-1} \sum_{k} |a_{N,k}| \int_{AN^{\beta}}^{|a_{N,k}|-1} F(x) dx \\ &\leq C \sum_{N=N_0}^{\infty} N^{\rho+\beta t-1} G(AN^{\beta}) \sum_{k} |a_{N,k}| \int_{AN^{\beta}}^{|a_{N,k}|-1} x^{-t} dx \\ &\leq C \sum_{N=1}^{\infty} N^{\beta t-1} G(AN^{\beta}) \leq C \int_{0}^{\infty} x^{t} |dG(x)| < \infty . \end{split}$$

We have shown that the second expression in (11) is finite and the proofs are completed.

In [3] (see Theorem 6), it was shown that  $\int_0^\infty x^t \log^+ x |dF(x)|$  finite implies the existence of the hypothesized G of Theorem 4. In [3] and [4] the sharpness of these theorems has been investigated for sequences of independent random variables.

For the case t=1 it was shown in [4] that Theorems 1 and 2 are not valid for independent random variables even if it is assumed that  $\rho_N \to 0$  as  $N \to \infty$ . However for t=1 it was shown that with the additional hypotheses that  $\rho_N \to 0$  as  $N \to \infty$  and  $\limsup_{T \to \infty} \sup_k |\int_{[-T,T]} x dP(X_k \le x)| < \infty$  the conclusions of Theorems 1 and 2 hold for independent variables. The following example shows that this is not the case for dependent variables.

EXAMPLE. Let Z,  $Y_1$ ,  $Y_2$ ,  $\cdots$  be independent random variables such that  $P(Z=-1)=P(Z=1)=\frac{1}{2},\ Y_1,\ Y_2,\cdots$  are identically distributed,  $P(Y_1\geq 0)=1,\ yP(Y_1\geq y)\to 0$  as  $y\to\infty$ , and  $EY_1=\infty$ . Set  $X_k=ZY_k$  for  $k=1,2,\cdots$ . Clearly  $yF(y)\to 0$  as  $y\to\infty$  and  $\int_{[-T,T]}xdP(X_k\leq x)=0$  for all T and k=1

1, 2,  $\cdots$ . Now  $N^{-1} \sum_{k=1}^{N} Y_k \to_{a.s.} \infty$  since  $EY_1 = \infty$  and so there exists a sequence of positive numbers  $\delta_N \to \infty$  such that

$$P(|N^{-1} \sum_{k=1}^{N} Y_k| > \delta_N) \ge \frac{1}{2}$$
 for  $N = 1, 2, \dots$ 

Let  $a_{N,k}$  be  $(N\delta_N)^{-1}$  for  $1 \le k \le N$  and zero for k > N. For this example  $\rho_N = \delta_N^{-1}$  and  $\rho_N^{-1}P(|S_N| > 1) \to \infty$ .

In [1] an example of a stationary ergodic sequence  $X_k$  was given for which  $EX_1 = 0$ ,  $|X_1| = 1$ , and

$$\sum_{N} N^{-1} P(|N^{-1} \sum_{k=1}^{N} X_k| > \varepsilon) = \infty$$
.

Hence Theorems 3 and 4 do not hold for t = 1 if  $\rho = 0$ . It would be of interest to know if they hold in the case t = 1 for  $\beta(t - s) - \alpha > 0$  or  $\rho > 0$ , respectively.

## REFERENCES

- [1] BAUM, L. E. and KATZ, M. L. (1965). Convergence rates in law of large numbers. *Trans. Amer. Math. Soc.* 120 108-123.
- [2] Franck, W. E. and Hanson, D. L. (1966). Some results giving rates of convergence in the law of large numbers for weighted sums of independent variables. *Trans. Amer. Math. Soc.* 124 347-359.
- [3] HANSON, D. L. and WRIGHT, F. T. (1969). Some more results on rates of convergence in the law of large numbers for weighted sums of independent variables. *Trans. Amer. Math. Soc.* 141 443-464.
- [4] Hanson, D. L. and Wright, F. T. (1970). Some convergence results for weighted sums of independent random variables. Z. Wahrscheinlichkeitstheorie und Verw. Gebiete 19 81-89.
- [5] KOUNIAS, EUSTRATIOS G. and WENG, TENG-SHAN (1969). An inequality and almost sure convergence. *Ann. Math. Statist.* 40 1091-1093.
- [6] Loève, M. (1963). Probability Theory, 3rd ed. Van Nostrand, Princeton.
- [7] ROHATGI, V. K. (1969). On convergence rates in the law of large numbers for weighted sums of independent random variables. *Proc. Amer. Math. Soc.* 20 570-574.

DEPARTMENT OF STATISTICS UNIVERSITY OF IOWA IOWA CITY, IOWA 52240